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ASSIGNMENT-1

M.Com DEGREE EXAMINATION, DECEMBER 2020.
Second Year

INTERNATIONAL BUSINESS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

GATT
wed

Comparative costs

€§J€)R)'°e‘§é§ 5230‘50"’00

MNCs
MNC eo

Corporate Culture
5°8°\8¢5 H0wy), 3@
International production
OSTEOD 518

WTO

WTO

Regional trade groups

Prodah I8 SJT=TEen

Strategy designing
Q)"BZJSE) dr"bée)a)ré

What is meant by international business? Explain its importance.

OSTAAD TRE0 OITIN 2 T FPFeagsad DIBOHHN.

Discuss about strategic planning in MNCs.

MNC o&° Frgtes (9398556050 1178y $8y09)B%0.

Write a note on multinational corporate culture.

DITVT e svS"o)E%eS 0, yBR 35"5@"3& [FPAS0d0.
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ASSIGNMENT-2

M.Com DEGREE EXAMINATION, DECEMBER 2020.
Second Year

INTERNATIONAL BUSINESS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

. Describe about evaluation of performance in MNCs.

MNC o¢* DEGT® INED SBoHS0.

Discuss about significance of HRM in MNCs.
MNC o¢® HRM &Boo¥), SEASIS S ENCORI

Give an overview on state of international business in developing countries.

0838 ooy oS’ ©oSTAD TFEY 28D DFBEBOHSN.

Critically examine the modern theory of international trade.

35008 eaoég;@o:b J88 ?ocgo@vi)& Dmdrgmeéééom @eno);iao.

Describe the role of international organisations in making multilateral
agreements.

DTVEE 20070 EIrHEYIS” wosTHAD 0RO (B0 B0
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ASSIGNMENT-1

(DCM 22)

M.Com. DEGREE EXAMINATION, DECEMBER 2020.

Second Year

MANAGEMENT OF INFORMATION SYSTEMS

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

System development
DY BILI0E
Distributed environment

&@w@& anngﬁooeS

Database
CoeTBR
Data Resource

e 8?3659

WAN

WAN

System analysis
P DFed
Hardware

5636

Computer language

EoIognd g

What are the sources of information for decision making?

DYALTren YOI SATTE0 BY), oS ?

Discuss about designing of online environment.

S8 AT AI0e5 GBIOR 178y 58 y0wIN.

Explain about controlling of system development projects.

RPN BILID0ES (FPBYE AAHOEIR KBy DSBoYIW.
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ASSIGNMENT-2

M.Com. DEGREE EXAMINATION, DECEMBER 2020.
Second Year

MANAGEMENT OF INFORMATION SYSTEMS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

. Briefly explain about various computer networks.

DD Eogeod 3e538),050 K5°8y Rore D5B0I.

Define Software. Explain in types.

FRBB AGD0D, T B ey,

Discuss about recent trends in IT.

IT &° Jo°68: e 8500 SBy0B00.

What is Query language? Explain its significance.

gogé @oﬁ£§ IR 2 T [PeErHgB3 DIBOHIN.

State the uses of DBMS.
DBMS Goo¥), [HAICasTrom H87,:80500.
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ASSIGNMENT-1

M.COM DEGREE EXAMINATION, DECEMBER 2020.

Second Year

ACCOUNTING : ADVANCED FINANCIAL ACCOUNTING
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Limitations of financial accounting

e98°0e30M HBAvED

Liquidity Ratios

(E89585¢ Ay&en

Need for Valuation of shares
D20 D) &sas%ééé
Internal Reconstruction
©OBES HI0YEZN
Objectives of Financial statement analysis.
&sgé D3B8 IPAes OFTSR0
Inflation adjusted statements
dEeren 53 5enes Se3sen
Limitations of HRA

HRA 580¢0e0

Yield method

P& DB
@
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2. What is Ratio Analysis? Explain its advantages and limitations.

DB IFes VIR ? T B, (HATeTed 280k Saroid DHBOYHSL.

3.  Define Financial Reporting? Also state its objectives and types in detail.
e85 8258oN& ABDOD, BIFOTT T OFHL 0By S5 DI (Ysorr)
DS5BoSok.

4.  From the following information for the year ended 31st March 2016, Calculate the
value of goodwill on the basis of three years purchase of average super profits of
the business.

Value of non-current and current assets (including goodwill
Rs. 1,80,000 and patents with less Rs. 40,000)

Value of non-current and current liabilities Rs. 6,20,000

Rs. 21,20,000

Profit before tax for:

2012-13 Rs. 4,22,000
2013-14 Rs. 4,80,000
2014-15 Rs. 5,00,000
2015-16 Rs. 4,00,000

The Tax rate is 40%, Normal rate of return is 10%.
é)‘fb 31, 2016 85 DT H0E HEDS IS [DKLD ergren [SoT°ed bo;ﬁeé{bmo
Rt enDH

KH&EJST $8Ke30Td.
[FR0BSS B (SR8 een (¥0d &d 108 §°.1,80,000
=~ =~ =~ Rs. 21,20,000
S08050 DE0edy Desd BA 83°.40,000)
FRNBSS 2B (598 eIyen Rs. 6,20,000

e35°0%0 Z)m&é) 000D eeeTren

2012-13 Rs. 4,22,000
2013-14 Rs. 4,80,000
2014-15 Rs. 5,00,000
2015-16 Rs. 4,00,000

eSTPaY) I3 B 40 BSBH0, egeSes TP 10 BB,
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ASSIGNMENT-2

M.COM DEGREE EXAMINATION, DECEMBER 2020.
Second Year

ACCOUNTING : ADVANCED FINANCIAL ACCOUNTING
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. From the balance sheet and information given below prepare consolidated balance
sheet.
Balance sheet as on 31st December 2015.

Liabilities H Ltd SLtd Assets H Ltd S Ltd
Rs. Rs. Rs. Rs.

Share Capital 2,00,000 Sundry Assets 8,00,000 1,20,000
(Rs.10 fully 10,00,000
paid)
Zsflt & Loss 4,00,000 1,20,000 Stock 6,10,000 2,40,000
Reserve 1,00,000 60,000 Debtors 1,30,000 1,70,000
Creditors 2,00,000 1,20,000 Bills receivable 10,000
Bill payable 30,000 Sharesin'S' 1,50,000

Ltd

at cost

17,00,000 5,30,000 17,00,000 5,30,000

(a) All the profit of 'S' Ltd has been earned since the shares were occupied by 'H'
Ltd, but there was already the reserve of Rs.60,000 at that date.

(b) The bills accepted by 'S' Ltd Rs.10,000 are infavour of '"H' Ltd.

(¢c) Sundry Assets at 'S' Ltd are undervalued by Rs.20,000.

(d) The stock of 'H' Ltd includes Rs.50,000 bought from 'S' Ltd at a profit to the
Later of 25 percent on cost.

BI03 BDYD €53 €3O JeJe0 DST°0 3BT I €33 ©IPO JII SAL™H Davod.

31 o8, 2015 & &) &) SN Zoe8§§.
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H Ltd S Ltd - H Ltd S Ltd
8000

@K)O})e)o
Rs. Rs. - Rs. Rs.
DT ITPOEII0 JDE e8)e 8,00,000 1,20,000
(d.T".:LOE’)J ?’.Q)"’_BQTT" 10,00,000 2’00’000
380I58)
@aﬁf‘éigo P 4,00,000 1,20,000 S 6,10,000 2,40,000
6&6)5 1,00,000 60,000 Ba0Eafiyen 1,30,000 1,70,000
200D 2,00,000 1,20,000 S3oven Deyen 10,000
300:5Dene 30,000 'S' dM&3&eS® 1,50,000
PEIPD ?é&étﬁ
17,00,000 5,30,000 17,00,000 5,30,000

(a) 'S dWBESD eresoome H! 7% BETE 50FBoDIB. 500 &3 B3B8 53°.60,000
8&635 éé&&
(b) 'S' dWEE eoRE80DS Deyos® H' dEBELH H02080BD KI°.10,000.
(© 'S DWEBE DD B[ EI°.20,000 €0 S I Do¥eER0 BRI
(d) "H dBES®D 35%HS° 'S DWEBE 2008 §50ften D58 83°.50,000 S0 &8
SRACRSON

B8 & 25 TSI EHED DFooIVESE.

SECTION C — (2 x 15 = 30 marks)
Answer any TWO of the following.
How do you treat the unrealized profit and dividend? Explain in detail.

$RT°e05e) ergfin B0 ETZOLNOR DGO HBHE3S HYor DSBoS0E?

Describe the recent trends in published accounts.

BES030ES grEred’ aedseseeos® S8 §5eo $BocBw.
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4. From the following information. Find the value of shares by (a) Net asset method,

(b) Yield method. where normal rate of return is 14%.

Liabilities Rs. Assets Rs.
1,00,000 equity shares of Rs. 10 Each | 18,00,000 | Goodwill 60,000
Reserves & surplus 7,00,000 | Fixed Assets 20,00,000
11% Debentures 8,00,000 | Current Assets | 15,00,000
Creditors 2,00,000
Bills payable 60,000
35,60,000 35,60,000
The value of assets is assessed as follows.
(1)  Goodwill Rs. 1,00,000
(1) Fixed assets Rs. 18,90,000
(111) Bad debts Rs. 20,000
(iv) Profits after tax for current year Rs. 5,60,000

8% Sore ods ée%éﬁ T2eT DS (a) DES esdye Xxgé’é &°qo° So8aso (b) ot :)ccgéb

a0 88,0980, A grdes ook Bew 14 B3B3

SIMNGY 8ol e300 8l
Se8ed mer Sorregsddn 1,00,000 EDS 60,000
18,00,000
oeeen 1 8 o0l 10
6%60‘500 o8 Somq‘i)%) 7.00,000 986"“{\1)_96)0 20,00,000
11% &601‘.563 8,00,000 | (%o ng—ow 15,00,000
2000£35°¢5eD 2,00,000
3905 Deven 60,000
35,60,000 35,60,000
83300 @037 (808 B [H5°EH80
Q) &S - &o°. 1,00,000
5
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(i) Dorkoew - &, 18,90,000
[«

—0

(iii) o°erden - &®. 20,000

(iv) OS Q0 BINIE &T°050J) Xaféo& éo*ogé ergren — &oe. 5,60,000

With the help of the information given below prepare Trading A/c, Profit and Loss

Al/c and Balance sheet.

(a) Gross profit ratio = 25%

(b) Net profit / sales = 20%

(¢) Sales / Inventory Ratio = 10

(d) Fixed Assets / Total current Assets = 5/7

(e) Current Ratio = 1

(f)  Fixed Assets / Share capital = 5/4

(g) Fixed Assets = Rs.10,00,000

(h) Closing stock = Rs.1,00,000

53808 IZTTE IFAW0E SEEY rEE, orEIF PrEe DB 6R) @Dpo 3D
BOLE DO,

(a) Kxge) eres X)Z)Q@; = 25%

(b) d8Bereso / ea;ﬁoés"w = 20%

(c) edysed / adgoed DS = 10

(d) ggm“‘oa_pe)o / 3080 (5 esdyen = 5/7

(O  BRSd5 -1

® ggmm_pw / SOTPOTEIEHE80 = 5/4

() Qomgen = &r. 10,00,000

(h) SooRoY) JHBOKH = &or. 1,00,000

(DCM 23)
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ASSIGNMENT-1
M.Com. DEGREE EXAMINATION, DECEMBER 2020.
Second Year
ACCOUNTING : ADVANCED COST AND MANAGEMENT ACCOUNTING

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

(a) Explain about material variance

568 B0 1180 [Frains.

(b)  Scope of cost accounting
$50D e8°0e30R $88
(¢) Cost ledger
;5§o:i> e3:50°
[~
(d) Objects of LCA
LCA oggeo
(e) Special report
LX)é§§ BRTA]
(f)  Classification of costs
H500 5888
N
(g) dJob order costing

) esgb B

(h) Flexible budget
RPEESH0SR0D 5ed

Define Cost accounting, Explain it's nature and scope.

H50D ©8°030R DBDOD, T B, Der50 S080%0 B DSBoSBL.

What is cost allocation? Write about the methods of cost allocation.

350DBer0n0 @ITHD? SALBEre0D) SEEOR DBBOYS.

From the following particulars prepare a flexible budget for 80% and 100%
capacities.

Level on activity 50% (5000 units)



Materials
Labour
Direct expenses

Factory overheads

Rs.10/unit

Rs.5/unit

Rs.3/unit

Rs.50,000 (10% fixed)

Administration overheads Rs.1,00,000 (fixed)

Selling overheads

Rs.30,000 (30% variable)

&8 BOS FuW DIT°® SEo 80% 308030 100% GBS FHO &9%68&%9&6& TesbpleV)

DoLos0
T 38R0/ ¥
26380y
0
(D8 Py
558 582Gy
580 8.552°8)

SR8 L3676y

50% (5000 05or°edy)
ATeed 2.8),0638 K. 10/-
QSRS 2.8),0638 &°.5/-
ORoRES 2.8),0638 &°.3/-
85°. 50,000 (10% 50)
85°. 1,00,000 (380)

8oe. 30,000 (30% <58)



M.Com. DEGREE EXAMINATION, DECEMBER 2020.

ASSIGNMENT-2

Second Year

(DCM 24)

ACCOUNTING : ADVANCED COST AND MANAGEMENT ACCOUNTING

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Prepare cost sheet showing

(a)
(b)
(©)
(d)

Cost of material used

Prime cost

Works cost

Cost of production

Stock of materials (1-1-2017) 10,000
Stock of finished goods (1-1-2017) 25,500
Raw material purchased 2,90,000
Productive wages 1,95,000
Sales 6,06,000
Stock of material (31-12-2017) 12,500
Works overhead 43,000
Office and general expenses 36,000

Stock of finished goods (31-12-2017) 24,000

1808 DSoroD SIedeie 35?501)2)3(35:» BAPEHBODOE.

(a)
(b)
(c)
(d)

DIETROVD 3063BADES S50

@°3908 Sg0Hiso

38, 9500

&3)8 d50ho

He38aHSy dog (1-1-2017) 10,000
I8 @008 S deg (1-1-2017) 25,500
E0f"en 3D A&HEgen 2,90,000
é@‘béé Sedren 1,95,000
@éaéven 6,06,000
238Dy Reg (31-12-2017) 12,500
2D 2,35515"&() 43,000
3D BBALL G BEd LY 36,000

I8 @000 HEE Jeg (31-12-2017) 24,000



From the following information find out
(a) Material cost variance

(b) Material price variance

(¢) Material usage variance

Quantity of material purchased 3000 units
Value of material purchased Rs.9000
Standard quantity of material required for per tonne of finished 95 units
product
Standard rate of materials Rs.2 per
unit
Opening stock of materials -
Closing stock of materials 500 units
Finished product during the year 80 tonnes
55 1808 DHE30E’
(a) D Hgad o
(b) Z)crg fne{J) ;55@560
(c) émg AN HgBL50 ESOA"S0.
S0 00 IS e3BALSy) 5850 3000 0%°dexy
000 3% 20e38aNSy Dewsd 85°. 9000
2.8 €250y PG SALTS SRHOWH SHeDD 2063800
B8, 25 aeden
[Desure3s H850°es0
e380HSy @rareeds Bew 2.8 a0eRe5% &,
2
380Dy @r80esd o _
26380 Sy BoRo Jeg 500 QfURey
00581857006 B $aLB &) 80 e2350)e0

The following information related to Job number 1: Find out total cost and selling
price showing a profit of 25% on selling price.

Materials used 32,000

Wages

Dept A - 80 Hours @ 90 per hour
Dept B - 50 Hours @ 60 per hour
Dept C - 30 hours @ 77 per hour
Overhead

Fixed Rs.6,00,000 for 15,000 hours

Variable overheads



Dept A - Rs.1,50,000 for 5000 hours

Dept B - Rs.45,000 for 1500 hours

Dept C - Rs.80,000 for 4000 hours.

2 5o ‘1’ K H02080d BKHS B8N0 oS 0B éédi)aﬁao So8o eﬂaﬁoééo;’.g
25 BB eSS0 ©IRE3N Denss DYo0HSN. DABTRODD 20e380HS &8 e
32,000 JIST°en

A ggeiidon 80 Kotoen - 1 Koo &oe. 90.00
B derertdon 50 Kotoen - 1 Koo &oe. 60.00
C degeifsdon 30 Kosoen - 1 Koo &oe. 77.00
&;58?&&0 15,000 Koer0% ?(gcs;:gma &o°. 6,00,000

38 &;582?&‘3

e 'A' 8. 1,50,000 - 5000 K000
e 'B' 8o°. 45,000 - 1500 Kot
e 'C' 8o°. 80,000 - 4000 K000

Write about different types of cost reports?
DG Bs°0 PLY FORTALIS I KPB() (2°00050.

Discuss the advantages and limitations of budgetary control.
258 Dohoes [HATered, HBAHLL BenYHS0.
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ASSIGNMENT-1
M.Com. DEGREE EXAMINATION, DECEMBER 2020.
Second Year
Commerce
ACCOUNTING
ACCOUNTING : TAXATION

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Assessee.

@?o?oQ.

Resident and ordinarily resident assessee.

52020y AT B80T FEEes A,

Retrenchment compensation.

DETBD FRHBTES0.

Income from house property situated in a foreign country.
DBFE ey My e 53y eoraio.

Partition of HUF.

SPOLT Y B0 A3, Jg5ess.

Long term capital gain.

BESIE BoT0Es Trgren.
Refund of tax.
ESISUNEVECISLS

Recovery of tax

Zaéo& DOA Teeat 8.



State the exceptions as to income of previous year is taxed in the relevant
assessment year.

NS D058Y008 D eTrairdd (HXB By ATV WoDB oS DBy QoS &l
DVTE0OYOK0 VHBoBOE.

What is residential status? When does a resident individual become a resident but
not ordinarily resident?

DT (HODY eITIA? D “(oocﬁéaoeﬁe 358 Iy DO DOHEIVT $o0A0 T FrEes
DT DBREI0NT?

Mr. Abhimanyu is engaged in the business of generation and distribution of
electric power. He always opts to claim depreciation on written down value for
income-tax purposes. From the following details, compute the depreciation
allowable as per the provisions of the Income-tax Act, 1961 for the assessment
year 2018-19:

Ws6

(Rs. in lacs)

(a) Opening WDV of block (15% rate)
(b) New machinery purchased on 12-10-20 17
(¢) Machinery imported from Colombo on 12-4-2017.

This machine had been used only in Colombo earlier and the assessee is the
first user in India.

(d) New computer installed in generation wing of the unit on 15-7-2017

ARSI i)cioesé 38 & Sodasw Do sf’zgﬁ“éoeﬁe QDM L0780 BB Ayeso 6&)5&
&R D20DB0 eSO D39 §%0 SO0V TPOIEIED DINEI0LTED. 201819 D) K)q;dea
VOSBYTVE @B030BoBEN BTGOSO 83§08 NS WSTTE0 O°0° He3oNOc. e5araio)
DBIEHN, 1961 & HVoORODVS JOLHON @BIVO0Y Fe HBANILSOB NedoBoct.

(2) WDV &8 8505 aeon (15% Gea)
(b) 12-10-2017 & §°8 aoo@en SR e 37250
() 12-4-2017 S0 $500& BROSD 3@&6& aSooE@re PO

S8 QWOER0 850 FoofS SFHB0 MNBTAoTEs & AooEre P85S
300653 DIATR0DS 558 BBy,

(d) 15-7-2017 & C5ordel Booy), a3 Jgrniod §8 Soyrgsd 398 Jasoerso
2633 By

42
10
9

(i.@é@és)
42

10
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ASSIGNMENT-2
M.Com. DEGREE EXAMINATION, DECEMBER 2020.
Second Year
Commerce
ACCOUNTING
ACCOUNTING : TAXATION

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

1. Enumerate the privileges conferred on a foreign technician by the Income-tax Act,
1961 and the conditions to be fulfilled for eligibility of the concessions.

SOOI W3y Vo, 1961 ooor ey D33 FoIBE Idendsd JIRED  BFTTOI
Ntoletnlole

2. From the following details, compute the total income of Siddhant of Delhi and tax
payable for the A.Y. 2018-19:

Particulars Rs.
Salary including dearness allowance 3,35,000
Bonus 11,000
Salary of servant provided by emloyer 12,000
Rent paid by Siddhant for his accommodation 49,600
Bills paid by the employer for gas, electricity and water provided free of 11,000

cost at the above flat

Siddhant purchased a flat in a co-operative housing society in Delhi for Rs.
4,75,000 in April, 2011, which was financed by a loan from Life Insurance
Corporation of India of Rs. 1,60,000 @15% interest, his own savings of Rs. 65,000
and a deposit from a nationalized bank for
Rs. 2,50,000 to whom this flat was given on lease for ten years. The rent payable
by the Bank was Rs. 3,500 per month. The following particulars are relevant:

(a) Municipal taxes paid by Mr. Siddhant Rs. 4,300 (per annum)
(b) House Insurance Rs. 860

(c) He earned Rs. 2,700 in share speculation business and lost Rs. 4,200 in
cotton speculation business.

(d) In the year 2012-13, he had gifted Rs. 30,000 to his wife and Rs. 20,000 to his
son who was aged 11 .The gifted amounts were advanced to Mr. Rajesh, who
was paying interest @19% per annum.
(e) Siddhant received a gift of Rs. 25,000 each from fourfriends.
() He contributed Rs. 50,000 to Public Provident Fund
3 (DCM 25)



5o 308 VIPTTO GO GOED Vo B, BwPo STATY BoOARD 201819
D39 ArTes WoFBYTVE IYoBBORS B3N HedoBok.

DR BB200

5503 g85508 E7GD B85

50

05035070 OB0ND DI By, EBB0

85 508 §%0 oerod oS ed

Trge, DO o80T AINEROI SR 3900 Deen

2P DTS TS’ e HEITAITS SISO 320 30R0d

DS, 2011 5 ¢S rrod § 335 TTRoR TGS s FeSvo 6. 4,75,000 o

§'5¢0 230N00. @0t grosdE B8 HIT voy Jood 6. 1,60,000 035690 HRED

TR& 15% 56 3Doiero 20RO, FoBorT FEaw) BRI 877, 65,000 55800 & ErdA
@850 e eSS0 Derty FBe0 T VRS SN GBS 8. 2,50,000 Sa ergef Ioo
B3O @3 5. 3,500 & €08 Boe0hB VIFTTOo 330 eBhcd.

(a)
(b)
(c)

(d)

©)
®

o YOV FNDS BB EI°. 4,300 (HOIEYTVE)

1yoR8 Q5o 5. 860

26 B8NS TEPE0 T DN HPO B, 2,700 $oBAIN0 TS 0SB D0 TFFE0
T°0° HS HPo B 4,200

2012-13 “:oo;ée‘ésdoés 9@(5@"05 O3 gr8g80 ai)oéé 235320508 PEEGO BI°. 30,000 506ATD 85
11 Jos8yore Bo3or8008 FYD T000D OGO B, 20,000 S 2TVH5B00 §D0 9530
TP 5008 50085350 BT 7¢38 19% (R038y0°08 ;6% 5@@5"&6@0).

DTOS B SO0NABO aTBe Ho0¢ WTVBDTT .575,0 HE B, 25,000 BROSITNDO.

(e G35 VRS BB &oDBI B, 50,000

From the Profit and Loss Account of Alo of 36 years old for the year ending March
31, 2018, ascertain her Total Income and Tax liability for the Assessment Year

2018 -19:
Particulars Rs. Particulars Rs.
General Expenses 13,500 Gross Profits 3,17,000
Bad debts 22,000 Commission 8,800
Advance Tax 3,000 Brokerage 37,000
Insurance 800 Sundry receipts 2,500

Ws6

O,
3,35,000
11,000
12,000
49,600

11,000

4 (DCM 25)



Printing & Stationery 1,200 Bad debt recovered 11,000
(earlier allowed as deduction).

Salary to Staff 27,000 Interest on debentures 20,000
(i.e., net amount Rs.18,000 +
tax deducted at source: Rs. 2,000).

Salary to Alo 51,000 Interest on deposit with a 15,000
company (non — trade)
(net interest : Rs.13,500 +
tax deducted at source: Rs1,500)

Interest on Overdraft 4,000

Interest on loan to Chandra 41,000

Ws6

Particulars Rs. Particulars Rs.
Interest on capital of Alo 22,000

Depreciation 48,000

Advertisement expenditure 7,000

Contribution to employees’ 7,800

Recognized Provident Fund

Net Profit 1,63,000

4,11,300 4,11,300

Other information

(a) The amount of depreciation allowable is Rs. 45,000 as per the income tax

rules. It includes depreciation on permanent sing board.

(b) Advertisement expenditure includes Rs. 2,000, being cost of permanent sing

board fixed on office premises.

(¢) Income of Rs. 2,500, accrued during the Previous Year, is not recorded in the

Profit and Loss Account.
(d) Mo pays Rs. 9,000 as premium on own life insurance policy of Rs. 1, 00,000.
(e) General expenses include:
(1) Rs. 1,500 given to sister for arranging a party in her birthday party
(11) Rs. 1,000 being contribution to a political party.

(f) Loan was taken from Chandra for payment of arrears of Income — tax.
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Explain the procedures regarding refund of excess tax paid by the assessee to the
Department.
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What are the various grounds of appeals available before different types of

authorities to the assessee?
DG ETBH GETT0 B0 B V0RO wotrend’ ¢y VG TTBF intdy

7 (DCM 25)



